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UIL ACCOUNTING
District 2007-D2

Group 1

The owner of a small sole proprietorship uses three financial statements at the end of each month.  These are the balance sheet, income statement, and statement of changes in owner’s equity.  The owner’s equity section of the balance sheet only shows the ending capital amount.  The income statement includes a detailed section for cost of merchandise sold.

For items 1 through 6, indicate on which financial statement(s) the item will appear.  Write the identifying letter of the correct response on your answer sheet.

A. Balance Sheet only

B. Income Statement only

C. Statement of Changes in Owner’s Equity only

D. Balance Sheet and Statement of Changes in Owner’s Equity

E. Income Statement and Statement of Changes in Owner’s Equity

F. Balance Sheet and Income Statement

1. Ending balance of capital





2. Total liabilities



3. Owner’s withdrawals

4. Fees earned


5. Ending merchandise inventory

6. Net income

Group 2

The following employees of Butler Co. are paid an hourly wage plus overtime at a rate of 1½ times the regular rate of pay for hours worked over 40 in a week.  The company is closed on weekends and there was not a national or company holiday this week.

	Employee
	Hourly

Wage
	Mon
	Tues
	Wed
	Thur
	Fri

	Blaze Turner
	$8.00
	9
	8
	13
	8
	6

	Edith Morris
	$12.50
	11
	10
	9.5
	11.5
	12

	Kelly Webb
	$10.00
	12
	9
	9
	9
	8

	Jason Alexander
	$14.00
	9
	6
	10
	7
	5


For question #7, write the correct amount on your answer sheet.

* 7. What is the total gross pay for all of the employees for the week?

Group 3

It is company policy to record any necessary journal entries and to update the checkbook balance after the bank reconciliation is completed.  Prepare the reconciliation using the following format.

	Sara’s Bakery

	Bank Reconciliation

	December 31, 2006

	Bank Statement Balance, 12/29
	
	Checkbook Balance, 12/31
	

	Add: 
	
	Add:
	

	
	
	
	

	Deduct:
	
	Deduct:
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


On December 31, Sara received the company bank statement dated Dec. 29 and reviewed it along with other accounting records and found the following facts:

   1. The ending bank balance was $4,643.19
   2. The checkbook balance on Dec. 31 before reconciliation was $1,852.66
   3. The bank charged $12.60 for the month’s service charge

   4. The following checks were written in November, were outstanding in November, 

       and still did not appear on this bank statement:


   

check #4288…$38.60

check #4895…$10.00
   5. The following checks were written in December and did not appear on this bank

        statement:
check #5106…$229.57
check #5113…$406.84


            check #5110…$2,681.16
check #5114…$22.46
   6. A check in the amount of $25.00 from Delbert O’Reilly that Sara deposited on

       Dec. 26 was returned by the bank for insufficient funds.  The bank charged Sara’s 

       account $15 for handling the NSF check.  No journal entry has been made yet by 

       Sara for the NSF check or its related fee.  

   7. A deposit of $604.90 made on Dec. 31 does not appear on the bank statement.

   8. A check Sara wrote for $300.10 made payable to Jared’s Bakery Supply was lost in the 
       mail and had never been cashed.  Sara requested a stop payment order, which cost $10

       and was issued by Sara’s bank on Dec. 29.  Sara has not yet recorded this in the 

       checkbook nor has a replacement check been prepared.

   9. A review of the bank statement reminded Sara that she had used the debit card

       on this account to make a $16.15 payment to a local grocery store and forgot to record it in

       the company checkbook.

 10. Sara also saw from the bank statement that she forgot to record in the checkbook an
       electronic funds transfer to a vendor for $214.55 
For questions 8 and 9 write the correct amount on your answer sheet.

8. What is the total of the deductions listed on the checkbook side of the T account

      form?

* 9. What is the reconciled bank balance as of December 31, 2006?

Group 4

Consider the following data and answer questions 10 through 13 by writing the identifying letter of the best response on your answer sheet.

The following transactions occurred in the petty cash fund of Creekside Co. which began operations on April 1. 

Apr. 1     Established a petty cash fund in the amount of $100

Apr. 30   Actual cash counted in the petty cash fund was $2.98 before replenishment

Apr. 30   Reimbursed the petty cash fund given the following petty cash fund 



       disbursements:




>>Payment for office supplies $56.38




>>Payment for postage $39.00

May 1       Increased the petty cash fund by $50

10. The entry to establish the petty cash fund would consist of


A. a debit to Cash in Bank for $100


B. a debit to the Petty Cash account for $100


C. a credit to the Petty Cash account for $100


D. both A and C

* 11. The entry to record the reimbursement of the petty cash fund on Apr. 30 would 

 
include a


A. debit to the Petty Cash account for $95.38


B. credit to the Petty Cash account for $95.38


C. credit to Cash in Bank for $95.38


D. credit to Cash in Bank for $97.02

12. The entry to record the reimbursement of the petty cash fund on Apr. 30 would 


include a debit to


A. the Petty Cash account for $1.64


B. Cash Short and Over for $1.64


C. the Petty Cash account for $2.98 


D. Cash Short and Over for $2.98


E. none of the above

13. The entry to record the increase in the Petty Cash fund on May 1 would include a 


A. debit to the Petty Cash account for $50


B. credit to the Petty Cash account for $50


C. debit to the Petty Cash account for $51.64


D. credit to the Petty Cash account for $51.64

Group 5

Write the correct amount on your answer sheet for questions 14 through 26.  Following are all the accounts (except capital) of the Swanson Co. as of the end of the fiscal year after adjustments.  All accounts have normal balances.  Lee Swan made one owner investment during the year of $10,000. 

	Account  Title
	Amount
	
	Account Title
	Amount

	Accounts Payable
	3,895
	
	Rent Expense
	12,300

	Accounts Receivable
	2,465
	
	Revenue
	20,180

	Advertising Expense
	2,050
	
	Salary Expense
	5,700

	Lee Swan, Drawing
	6,000
	
	Supplies
	1,680

	Cash in Bank
	890
	
	Supplies Expense
	3,780


14. What is the balancing total for the adjusted trial balance columns on the work sheet?

15. What is the balance in the capital account at the end of the fiscal year before closing 

entries are posted?

 16. What was the balance in the capital account at the beginning of the fiscal year?

17. On the work sheet what is the subtotal before net income or net loss is calculated


for the balance sheet debit column?

18. On the work sheet what is the subtotal before net income or net loss is calculated


for the balance sheet credit column?

19. On the work sheet what is the subtotal before net income or net loss is calculated


for the income statement debit column?

20. On the work sheet what is the subtotal before net income or net loss is calculated


for the income statement credit column?

  ** 21. What was the net income or net loss for the year?

22. What was the amount that affected Income Summary in the first closing entry?

23. What was the amount that affected Income Summary in the second closing entry?

24. What was the amount that affected Income Summary in the third closing entry?

* 25. What was the capital account balance at the end of the fiscal year after closing 

entries?

26. What is the amount of total assets that would appear on the Post-Closing Trial 

      Balance?

Group 6

The following information is taken from the Income Statement columns of a work sheet.  All accounts have normal balances.  Merchandise Inventory at the beginning of the year was $21,650.  The owner withdrew $5,000 during the year.  The owner made an additional investment of $18,000 during the year.

	Income Summary
	1,820 cr

	Net Sales
	86,400

	Purchases
	53,197

	Transportation In
	2,788

	Purchases Discounts
	1,085

	Purchases Returns & Allowances
	1,240

	Insurance Expense
	3,485

	Rent Expense
	8,640

	Supplies Expense
	9,673

	Utilities Expense
	5,850


For questions 27 through 31 write the correct amount on your answer sheet.

What is the correct amount of:

27. cost of merchandise available for sale?

* 28. cost of delivered merchandise?

29. ending inventory?

30. gross profit?

31. net purchases?

Continue to refer to the data provided above.  The accountant was asked to provide an income statement that includes vertical analysis.  For questions 32 through 35, write the correct percentage on your answer sheet.  (Your answers must be in percent format.  If necessary carry percentage to the nearest tenth of a percent.)

What is the correct component percentage for:

32. cost of merchandise sold?

33. gross profit?

34. total expenses?

  ** 35. net income?

Group 7

For questions 36 through 43, write the identifying letter of the best response on your answer sheet.

36. The first personal income tax was created in _?_ in an effort to finance the cost

       of _?_.



A. 1862   /   the Civil War



B. 1914   /   World War I



C. 1942   /   World War II



D. 1950   /   the Korean Conflict

37. The income tax system was established under the principle of _?_, which means 



that all individual taxpayers are responsible for filing their tax returns.



A. controlled observance

C. voluntary compliance



B. intentional fulfillment


D. deliberate conformity

38. The agency that administers the tax laws enacted by Congress is the



A.  AICPA      B. IRS      C. GAAP      D. CPA

39. For personal income tax, the earning period is



A. any twelve month period chosen by the individual taxpayer



B. from January 1 through June 30, with a second term from July 1 through Dec. 31



C. negotiable



D. from January 1 through December 31

40. The amount of federal income tax withheld from an employee’s paycheck is an _?_



of the amount of tax the employee will actually owe at the end of the year when the



personal tax return is filed.



A. exact total
B. estimate

41. When a person earns interest on a savings account at a bank, the bank must report



to the account holder the amount of interest earned on Form _?_.



A. 1040EZ      B. W-2      C. W-4      D. 8109      E. 941      F. 1099

42. On a personal income tax return, the total income for the year before deducting the



standard deduction is referred to as



A. total gross income

C. taxable base



B. adjusted gross income
D. total earned income

43. A personal tax return can be filed electronically by using the government’s system 



called the



A. e-file system



C. cable uplink system



B. digital imaging system
D. upload system
Group 8

For questions 44 through 47, write the identifying letter of the best response on your answer sheet.  A business with a fiscal year end of June 30 has the following normal account balances and other information for the dates given.  The company prepares monthly adjusting and closing entries.  Therefore, the date July 31 refers to balances after closing entries are posted.

	Cash, 7/1
	21,615

	Cash, 7/31
	31,535

	Accounts Receivable, 7/1
	18,490

	Accounts Receivable, 7/31
	19,210

	Chad Ray, Capital, 7/1
	….?…. 

	Chad Ray, Capital, 7/31
	….?….

	Merchandise Inventory, 7/1
	34,265

	Merchandise Inventory, 7/31
	36,780

	Accounts Payable, 7/1
	21,470

	Accounts Payable, 7/31
	….?….

	Net Income, 7/1 - 7/31
	2,465

	Owner investment July 5
	10,000

	Owner withdrew cash for personal use on July 30
	2,000


44. Total owner’s equity on July 1 was


A. $42,435     B. $52,900     C. $54,900     D. $59,200     E. $63,365     F. $95,840

45. Total owner’s equity on July 31 was


A. $52,900     B. $58,435     C. $60,900     D. $62,900     E. $63,365     F. $97,990

* 46. By what amount did the Accounts Payable account increase or decrease from


July 1 to July 31?


A. $2,690 increase

D. $3,155 decrease


B. $2,690 decrease

E. $7,620 increase


C. $3,155 increase

F. $7,620 decrease

47. If total expenses and cost of merchandise sold for July were equal to $13,005, what 

       was the amount of revenue for July?

       A. $2,540     B. $3,005     C. $10,540     D. $10,465     E. $15,470     F. $18,540

Group 9
You are the payroll clerk for Friendly Motor Co.  After reviewing the payroll records, you observed that three employees are approaching the 2007 maximum taxable amount for social security of $97,500.  These employees do not earn a salary or wages; they earn only commissions based on their vehicle sales.

You prepared the following electronic spreadsheet to determine how much more in sales each employee needed to reach the maximum taxable amount for social security.  Then an electric power surge resulted in some lost data.

For questions 48 through 50, write the correct amount or percentage on your answer sheet.

	
	Earnings to Date
	Commission Rate
	Additional Sales Needed

	Sid Stockman
	$89,250
	8%
	Q#48

	Yancy Tillerman
	$91,620
	Q#49
	$49,000

	Lori Delpheny
	* Q#50
	8%
	$26,125


Group 10

Refer to the information in Table 1 on page 12.  For questions 51 through 59, write “True” if the statement is true; write “False” if it is false.

51. The adjustment to record the newly discovered Invoice #A-710 includes a debit to 


Accounts Receivable of $920.
52. The Supplies account had a January 1, 2006 balance of $3,530.

53. In order to report the actual 12-31-06 inventory of supplies on the Balance Sheet, the 


Supplies account must be credited $4,650.

54. The adjustment for merchandise inventory includes a debit to Income Summary for 


$1,440.

55. The balance of Prepaid Insurance on the unadjusted trial balance of this work sheet 


will be the same as the balance of Prepaid Insurance on the Post-Closing Trial 


Balance dated December 31, 2006.

56. In September of 2006, Prepaid Insurance was credited for $1,872.

57. To adjust Prepaid Insurance on December 31, 2006, Insurance Expense must be 


debited for $312.

58. The correct balance of Prepaid Insurance on the December 31, 2006 Balance Sheet 


is $1,500.

59. The balancing total of the adjustment columns on the work sheet is $11,992.

Group 11

Refer to Table 2 at the top of page 13.  In the month of March, Jake worked the standard number of hours each day and was responsible for generating $62,000 in company sales.

For questions 60 through 69, write the identifying letter of the best response on your answer sheet.
60.  What are Jake’s total gross earnings for March?


A. $1,240       B. $1,860       C. $2,100       D. $2,500     E. $4,360     F. $6,200

61.  Total gross earnings are _?_ to an account called _?_.


A. credited    /    Salaries Expense


B. debited    /    Salary Expense


C. credited    /    Payroll Tax Expense


D. debited    /    Payroll Tax Expense

62.  Details about each employee’s paycheck for one specific pay period are first 


recorded in the


A. Form W-2

D. Form 941


B. Form W-4

E. Employee Earnings Record


C. Payroll Register

63. What is the amount withheld from Jake’s March gross pay for social security tax?


A. zero


E. $155.00


B. $  76.88

F. $270.32


C. $115.32

G. $384.40


D. $130.20

64. The amount of social security tax withheld from Jake’s pay would be _?_ to the 


account called _?_.


A. debited    /    Social Security Tax Payable


B. credited    /    Social Security Tax Payable


C. debited    /    Salary Expense


D. credited    /    Cash in Bank

65.  What is the amount withheld from Jake’s March gross pay for Medicare tax?


A. zero


E. $36.25


B. $17.98

F. $63.22


C. $26.97

G. $89.90


D. $30.45

* 66.  What is the amount withheld from Jake’s March gross pay for state unemployment 


tax?


A. zero


E. $42.00


B. $16.00

F. $50.00


C. $24.80

G. $56.00


D. $37.20

H. $87.20

Group 11 continued

67. The employee’s year-to-date gross earnings or the employee’s gross earnings from 


the beginning of the year through the end of each pay period is called


A. accrued earnings

C. accumulated earnings


B. built-up pay


D. earnings amassed to-date

68.  What is the amount of the employer’s liability for federal unemployment tax (in 


regards to Jake’s March payroll information)?


A. zero





E. $14.88

 I. $     34.88


B. $0.80 (eighty cents)

F. $16.80

J. $     49.60


C. $6.40




G. $20.00

K. $  640.00


D. $9.92




H. $22.40

L. $2,240.00

*** 69.  What is the amount that is debited to Payroll Tax Expense (in regards to Jake’s

       March payroll information)?


A. zero



C. $122.08


E. $395.94


B. $62.40


D. $333.54


F. $455.62

Group 12

Consider each of the following two situations independently.  Use the information in Table 3 on page 13 in conjunction with each situation.  Write the identifying letter of the best response on your answer sheet.

First Situation (use to answer questions 70 through 75):  The terms of the invoice include FOB shipping point with the agreement that the seller prepays National Transport.
70. Brewster Company will record the invoice received from Apollo as follows:


     





              

   Accounts  
    Freight Out


      Purchases
      Transportation In
    Payable
      

Expense
    
A.    6,400 Dr


        0

    
    6,400 Cr  

     0
    

    
B.    6,400 Dr


        0

    
    6,820 Cr                420 Dr

    
C.    6,820 Dr

          420 Dr

    6,820 Cr

        420 Cr

    
D.    6,400 Dr                     420 Dr

    6,820 Cr


     0

    
E.    6,820 Dr


        0


    6,400 Cr                420 Cr

71. When Brewster Company pays the invoice the entry will include a debit to: 

    
A. Sales Discounts

    
B. Purchases Discounts

    
C. Accounts Payable

    
D. Accounts Receivable

72. The amount of Brewster’s check is

    
A. $420     B. $5,916     C. $6,336     D. $6,400     E. $6,756     F. $6,820

* 73.  What is the net overall cost of Brewster’s purchase of merchandise from Apollo

    
Company in this first situation?

    
A. $420     B. $5,916     C. $6,336     D. $6,400     E. $6,756     F. $6,820

Group 12 continued

* 74. When the seller pays $420 to National Transport, the seller’s entry will include a

      debit to:

    
A. Freight Out Expense

    
B. Transportation In

    
C. Accounts Receivable

    
D. Accounts Payable

* 75.  What is the net amount that will increase Apollo Company’s net income from 

    
doing business with Brewster Company in this first situation?

    
A. $420     B. $5,916     C. $6,336     D. $6,400     E. $6,756     F. $6,820

Continue to use the information in Table 3 on page 13 in conjunction with this second independent situation.  

Second Situation (use to answer questions 76 through 80):  The terms of the invoice include FOB destination with the agreement that the seller prepays National Transport.

76. Brewster Company will record the invoice received from Apollo as follows:




   




          


Accounts          Freight Out



Purchases
  
Transportation In
    
 Payable
       Expense
    
A.    6,400 Dr



0



6,400 Cr
          
0
    

    
B.    6,400 Dr



0



6,820 Cr              420 Dr

    
C.    6,820 Dr

       420 Dr



6,820 Cr

  420 Cr

    
D.    6,400 Dr
      
       420 Dr



6,820 Cr
          
0

    
E.    6,820 Dr



0



6,400 Cr
         420 Cr

77. The amount of Brewster’s check in payment of the merchandise invoice is

     
A. $420     B. $5,916     C. $6,336     D. $6,400     E. $6,756     F. $6,820

* 78. What is the net overall cost of Brewster’s purchase of merchandise from Apollo 

      Company in this second situation?

      A. $420     B. $4,916     C. $6,336     D. $6,400     E. $6,756     F. $6,820

79. When the seller pays National Transport, the seller’s entry will include a debit to:

    
A. Freight Out Expense

    
B. Transportation In

    
C. Accounts Receivable

    
D. Accounts Payable

* 80. What is the net amount that will increase Apollo Company’s net income from 

        doing business with Brewster Company in this second situation?

      A. $420     B. $5,916     C. $6,336     D. $6,400     E. $6,756     F. $6,820

This is the end of the exam.  Please hold your answer sheet and exam until the contest director asks for them.  Thank you.
Table 1

(For questions 51 through 59)

The bookkeeper for Deacon Designs gathered the following information in order to prepare the work sheet for fiscal year end, December 31, 2006.  (Deacon Designs prepares adjusting and closing entries only at the end of the fiscal year.)

· The Prepaid Insurance account contains an increase of $1,872 for a two-year policy acquired on September 1, 2006.  (Against the advice of his attorney, Deacon did not have insurance coverage prior to 9-01-06.)

· The balance in the Supplies account on the unadjusted trial balance is $8,750.  During 2006 the company purchased $5,220 in supplies.  A physical inventory of supplies on December 31, 2006 indicates $4,650 of supplies on hand.

· The balance in the Accounts Receivable account on the unadjusted trial balance is $26,970.  A 2006 missing invoice #A-710 for $920 for a sale on account to a customer was found while preparing adjusting entries.  The bookkeeper elected to record Invoice #A-710 as an adjusting entry.  Recording these kinds of corrections as adjusting entries is a common practice at Deacon Designs.

· Merchandise Inventory on the unadjusted trial balance is $15,870.  A physical inventory on December 31, 2006 indicates $17,310 on hand.

Table 2

(for questions 60 through 69)

Froogle Company has the following payroll policies and other information:

	Payroll Period
	Monthly

	Standard Work Week
	40 hours per week

	Overtime Pay
	Time and a half for hours over standard

	Social Security Rate (employer and employee)
	6.2% on gross earnings up to $97,500 per employee

	Medicare Rate
	1.45% on all gross wages

	Employee Federal Income Tax
	Disregard

	FUTA (federal unemployment tax)
	.8% on first $7,000 gross earnings per employee

	SUTA (state unemployment tax)
	2.0% on first $9,000 gross earnings per employee

	Jake Freeman’s standard rate of pay
	Monthly Salary of $2,500 as base plus

3% sales commission

	Jake Freeman’s Gross Earnings from

  January 1 through February 28, 2007
	$6,200


Table 3
(for questions 70 through 80)

Brewster Company purchased $6,400 in merchandise on account from Apollo Company on February 3, 2007 with terms 1/10, n/30.  A third-party freight company is used to deliver the merchandise from the vendor’s shipping dock to the buyer’s receiving dock.

Brewster Company uses an account called Transportation In.  Apollo Company uses an account called Freight Out Expense.

The freight company used in this transaction is National Transport, who requires that their freight charges of $420 be paid before the merchandise can be loaded on their truck.

Any cash discounts allowed by Apollo Company are based on the sales price excluding any freight charges.

It is the company policy of Brewster Company to pay all invoices within the cash discount period.

Disregard sales taxes.

If the seller prepays the freight but is not the responsible party per the terms of the agreement, then the seller will include the freight charges on the sales invoice in order to request reimbursement of the freight costs.
